C1

She wore a coat it was cold outside.
Answer:

He had an umbrella it was raining.
Answer:

| will go for a walk the weather clears up.

Answer:
We can have a picnic it doesn't rain.
Answer:
| love summer it's warm and sunny.
Answer:

it's hot outside, | like to swim.

Answer:

I'll bring a hat ___it's sunny.
Answer:

it's snowing, we can build a snowman.

Answer:

He wore sunglasses it was very bright.
Answer:

____it's windy, the kites will fly high.

Answer:




Answers

She wore a coat it was cold outside.
Answer: because

He had an umbrella it was raining.

Answer: because

| will go for a walk the weather clears up.

Answer: if

We can have a picnic it doesn't rain.

Answer: unless

| love summer it's warm and sunny.

Answer: because

it's hot outside, | like to swim.

Answer: When

I'll bring a hat ___it's sunny.
Answer: if

it's snowing, we can build a snowman.

Answer: When

He wore sunglasses it was very bright.
Answer: because

____it's windy, the kites will fly high.

Answer: If



